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int n;

cin >> n;

const int MAX = 270 + 500 + 1;
int frequency[MAX] = {@};

for (Int 1 =0; 1 < n; 1++)

1
int wvalue;
cin »> value;
value += 500;
frequency|value |++;
}

int mx_pos = 0;
for (int 1 = 1; 1 < MAX; i++)

1f (frequency[mx pos] < frequency[i])
mx_pos = 1;
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13
74
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/6
77
/8
79
80
8l
82
83
84
85
86

total operations++;
read 2 num(a, b);

if (choice == 1)

add(a, b);
else 1if (choice == 2)
subtract(a, b);
else 1f (choice == 3)
multiply(a, b);
else if (choice == 4)

divide(a, b);
f

cout << "Total operations:

' << total operations;
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arr[e] = 1;

1; 1 < len; ++1)

for (int i

1
arr[i] = arr[1 - 1] * m;
}
h
int main()
{

int arr[100];
int len, m;
cin >>» len >> m;

set powers(arr, len, m);
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